

Apartment in Zebbug



Zebbug, Central



€425,000

Reference No: 240291062-57

 Total Rooms: **8**

 Floor Area (m²): **160**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Zebbug

ZEBBUG-A brand new development offering spacious layouts and high quality finishings , 3 Bedroom corner apartments and 3 bathrooms. Wont last long in the market.

Features

- ✓ En Suite
- ✓ PVC Piping
- ✓ Skirting
- ✓ Electricity Utility
- ✓ A/C
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 6.03 x 4 m (24.12 m2)
- ✓ Double Bedroom : 3 x 3.65 m (10.95 m2)
- ✓ Double Bedroom : 4 x 3.8 m (15.2 m2)
- ✓ Double Bedroom : 3.09 x 3.8 m (11.74 m2)
- ✓ Bathroom Ensuite : 1.5 x 2.19 m (3.29 m2)
- ✓ Bathroom : 3.19 x 1.97 m (6.28 m2)
- ✓ Laundry : 1 x 1 m (1 m2)
- ✓ Open Space : 3.95 x 2 m (7.9 m2)
- ✓ Open Space : 1 x 8.68 m (8.68 m2)
- ✓ Walk In Wardrobe : 2 x 1.6 m (3.2 m2)

Gallery





Giuseppe Bonanno

RE/MAX North - Qawra

M: 77064758

E: gbonanno@remax.com.mt

T: 21585844

RE/MAX North - Qawra

Dawret il-Gzejjer, Qawra, St Paul's Bay, Malta